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 STANDARD 5TH: CHAPTER 3 

 Addition  

Q. 1–5 Add the numbers.  

1)       40, 721                               2)           60                        3)       3,12,268 

      +        165                                  +       405                               +         768 

      +    2,407                                  +   12.345                               +     23.092 

 

 

 4)        64,027                              5)     33,217 

        +  28,102                                   + 29,541 

 

 

Q.11 In an election 23,47,051 women & 14,87,638 men cast their votes. Find 

total votes polled.  

 

Q.12 What’s sum of smallest & largest 6-digit numbers? 

 

Q.13 If a person buys 2 articles of worth Rs. 8,07,959 & Rs. 42,615 each, how 

much total he spends?  

 

Q.14 If Govt. gives subsidy of Rs. 34,61, 990 for farmers and Rs.4,26,978 for 

fertilizers, what’s total subsidy? 

 

 

 

 

 

 


